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[1EEHEKE] 14,303 (n) |[1 B EHEKE] 110,482 (m) |[1 B FEH%KE] 20,360 ()
Rk Rk Rk
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TUFEVRUEDIEEY <0.0015 <0.0015  <0.0015 2 <00020 <0.0020  <0.0020 2 <0.0020 <0.0020  <0.0020 2
5V RUEDIEEY <00002 <0.0002  <0.0002 2 <00002  <0.0002  <0.0002 2 <00002  <0.0002  <0.0002 2
ZITWRUZDIEEY <0.001 <0.001 <0.001 4 <0.002 <0.002 <0.002 2
1,2—9bOnIsy <0.0001  <0.0001  <0.0001 4 <00002  <0.0002  <0.0002 2 <00004  <0.0004  <0.0004 2
MLTY <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 2 <0.040 <0.040 <0.040 2
TRINEEY 2—IFIAFIIL) <0008  <0.008 <0.008 2 <0.008 <0.008 <0.008 2
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1,1,1—kJoonIsY <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 2
AFI—t—=TFII—TIV (MTBE) <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 <0.002 <0.002 <0.002 2
AHMECBIVHVEENIVLEEE) 38 3.1 34 4 6.7 36 49 12 0.7 0.5 0.6 4
R5GAE (TON) 2 2 2 4
EREGYTUTIEER) -2.0 22 -2.1 2
HEXEMRR 1728 523 1260 4
1,1—ybonIFlby <00010  <0.0010  <0.0010 4 <00002 <0.0002  <0.0002 2 <00100 <0.0100  <0.0100 2
JKig(°C) 253 23 124 365 135 30 87 12 206 30 1.0 365
TUEITREER <0.02 <0.02 <0.02 12 0.03 <0.01 <0.01 12
EYLFRIEERERE(BOD) 32 0.2 15 12 16 0.5 1.1 2
LB R ERE(COD) 2.6 1.3 20 12
L5 RUV)IR A FE (50mm 2 )L 43 R B )
FAEME(SS) 10 1 3 12
BRI R
LEHR 048 0.21 0.33 12 0.30 <0.10 0.23 12
EDV 0030  <0.020 0.020 12 0020 <0010 <0010 12
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PIHUE 240 128 17.9 235 136 10.8 125 12
BEBR 13.6 8.7 1.0 12
il S 13.8 6.4 11.0 18
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